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Section-A: Short Type   

 Answer five questions selecting at least one from each unit.      (1 x 5=5)

Unit-I

1. When was the first Synchronous Population Census of India started?
    i¡l­a LMe "Synchronous Population Census'   Q¡m¤ q­u¢Rm?

2. What is the ‘Demographic Dividend’?
   "Demographic Dividend'   ¢L?

3. Mention the ‘Preventive Checks’ to control the population growth according to T. R.     
     Malthus.
    T.R. Malthus   Hl j­a SepwMÉ¡ hª¢Ü ¢eu¿»ZL¡l£   ‘Preventive Checks’   উেѣখ  …¢m Llz

Unit-II

4. In West Bengal, Out-migration was recorded 10,13,000 persons and in-migration         
    was 9,13,000 persons in the 2011 Census, what is the Net Migration in West               
   Bengal?
    2011 Census   Ae¤k¡u£ f¢ÕQjh­‰ h¢qÑNjZ ¢Rm   10,13,000   Hhw BNjZ ¢Rm   9,13,000   Sez I hRl        
   f¢ÕQjh­‰   Net Migration   La ¢Rm?

5. Define the Child Sex Ratio (CSR).
    Child Sex Ratio (CSR)   Hl    সংϡা c¡Jz

6. What is 'Life Table'?
    'Life Table'   ¢L?

Unit-III

7. Which is the first country in the World adopted population policy?   
   ­L¡e ­cn phÑfËbj "SepwMÉ¡ e£¢a Q¡m¤ L­l¢Rm?



8. Define Old-Age Dependency Ratio.
   Old-Age Dependency Ratio   সংϡাHl c¡Jz

9. Mention the indicators of HDI proposed by UN.   
   UN   fËÙ¹¡¢ha   HDI   উেѣখ  Hl p§QL…¢m Llz

Section-B: Descriptive Type

Answer three questions selecting one from each unit.  (5x3=15)

Unit-I

1. What are the differences between 'Stable' and 'Stationary' population?           (5)
    'Stable'   J 'Stationary'   SepwMÉ¡l j­dÉ f¡bÑLÉ ¢e­cÑn Llz

2. Briefly describe the stages of the Demographic Transition Model (DTM) with special    
    reference to India.                 (5)
  i¡l­al SepwMÉ¡l p¡­f­r   Demographic Transition Model (DTM)   Hl ¢h¢iæ fkÑ¡u…¢m B­m¡Qe¡ Llz

Unit-II

3. Differentiate between 'Mortality' and 'Morbidity'. What is the Crude Birth Rate (CBR)?   
    'Mortality' and 'Morbidity'   Hl j­dÉ f¡bÑLÉ ¢e­cÑn Llz   Crude Birth Rate (CBR)   ¢L?         (3+2)

4. Define the ‘Immigration’ and ‘Emigration’. What are the reasons of internal labour        
     migration in India?                 (2+3)
    ‘Immigration’   J ‘Emigration’ সংϡা  Hl c¡Jz AiÉ¿¹l£Z nË¢jL ÙÛ¡e¡¿¹l­Zl L¡lZ…¢m E­õM Llz

Unit-III

5. Describe the salient aspects of Indian population policies after the Independence         
    period.                   (5)
   ü¡d£­e¡šlL¡­m i¡l­al SepwMÉ¡ e£¢apj§­ql j§m °h¢nøÉ…¢m B­m¡Qe¡ Llz

6. Mention the reasons behind the declining Sex Ratio in India. Why is it a cause for        
    worry?                (3+2)

উেѣখ  i¡l­a œ²jqÊÊ¡pj¡e e¡l£-f¤l¦o Ae¤f¡­al L¡lZ…¢m Llz H¢V ¢Q¿¹¡l ¢hou ­Le?


